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»Read the passa efully and enter the past
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- o Choose the correct forms of verbs.

1.1 to the mall after school.
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2. My brother a bear an hour ago.
- a.seen
= b.saw .

¥ €.5€es .
. Mike visit his grandmother last night? -

% ¢. Does

~ 4. Alex did not last weekend.

©  a.working
»  b. worked
»  c.work v

+ 5, Judy and Liz at last month's meeting?
+ a.Was
» b.Were

et

+ c.Are
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i having dinner together.
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I would love to go the party.
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love to go to the party.
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» CONTRACT THE WORDS
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> Type in the correct contracted form.

a. doesn’nt
b. doesn’t

find the key together.
a.We’ll
b.Will

give you my book today.” said Ali to Ahmed.

a.l’ll o
b.1ll ?
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+  » Match the given words to the correct form of
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